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01 /I Ex2_6.java
02 import java.io.*;
03 public class Ex2_6 {
04 public static void main(String args[]) throws IOException {
05 BufferedReader keyin = new BufferedReader(new
06 InputStreamReader(System.in));
07 int value;
08 String name;
09 System.out. prlntf("'j—sﬁg,] rRALA A e L =51,
10 name = keyin.readLine();
11 System.out. prlntf("'ﬂ—sﬁg,] » WA & gE ="
12 value = Integer.parselnt(keyin.readLine());
13 System.out.printf(* 71 & P](:}Tf}%ir’f \n\n");
14 System.out.printf("**** B p A FI YT F AT F A dcdg 7 *\n");
15 System.out.printf(*\n");
16 System.out.printf(" B #F %s L2 ] e 4G Es\n", name);
17 System.out.printf(" 3 %d ~ #E\n", value);
18 System.out.printf("**** w ;& 2 N F g i T pom xR\,
19 }
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20 }




